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Note :itis co ulsary to attempt {6 -- 6} parts mach from Q.No.2 , Q.No.3 and Q.No.4. Attempt any (03) questions from Part Il.
While Q.No.9 is compulsory. Write same Question No. and its Part No. as given in the Question Paper.
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36 =2x18 [ Make diagram where necessary. -u{ (g gﬂ sdo s | (Part—-1I) J_{}f d>

Define Radical Equation. Sl Pt (1) 240
Solve by Quadratic Formula. 2+ 9x="5x% SISV B ik (i)

Solve the Equation by Factorization. 2+ 5=11x .g{.ﬂ'fq_.i’..*.ijlp‘d)?’ =i (i)

WY TR ; Vo PV E L6 0L P+ (K =T)x+ 5K=0anle (V)

Find the value of’ K, if sum of the roots of equation X2+ (K- x+5K=0is 5 tmes the product of the roots.

Prove that the sum efall the Cube Roais of Unity is zero. _g.t':rj"’.;r’-, VA LT er (V)

Write the Quadratic Equation whose roots are 2, - 6. —u-‘ﬁq:.a et Foas .I)L,!'.l{,"th' 2,-6 fvi) '
Define Fourth Proportional. Ay S (vii)

Find Mean Proportional between 20 x°y °, 5% y. Bl 20800, 51"y (viil)
erOC;lg and V=5, whenr =3, find constant K. Gl K123 w2 Va5 VX :15)7 {ix)

Defing Proper Fraction, e E S (i) 340
If %E% < ;% ¥ -f—l then find A and B. _'éa,lvw’-’_( Bl AJs :_.::_:- & ;?I + ﬁ S (i)

Convert Improper Fraction into Proper Fraction. %‘T—lq IR e Ty (1))

Define a Funclion. _;"r:’._a;gfb]‘lh {iv)

Find @ and bif : (2a+5,3)=(7b-4) D Agte baa (v)

1f X ={a,b,c}and Y = {d,e }then find Yx X. ey xXTn Y={d, e} mXs{ab,c} A (vi)

What is meant by Dispersion? ' teilrie B (Vi)

Find Arithmetic Mean by Direct Method for the data, 12, 14,17,20,24,29,35,45 e Lo 3 bbby (vili)
-’?{P.J?):d’\:‘l’).’ij:l‘aﬁ]l 4_!',1;5'!4_&: 2,4,8 =4 "x)

Find Geometric Mean for the observations 2,4, § using basic formula,

Wiite the 30° into Radian. g 30° (i) 4,&);,-'
Find'r’, while £=52cm,0=45° 1 Bk A{il)
Verify the Identities %ﬁ =1+t 0 epfoty ()
Define Quadrantal Angle. sy AU g (iv)
Define Acute Angle. i e (V)
Dcfine Tangent. -.;é_i,a 17 J.,ﬂ/ {vi)
Define Chord of a Circle. AL (vii)
Define Radius. g e (vill)

P Wi oo o (ix)

The length of each side of a Regular Octagon is 3cm, Measure its Perimeler. |




LlKo No- 13 (Part-II) ﬂ.:daa- gﬁj/yf /"_ 2?

(A+32 +(x-52 5

+ 2 - (x~ 572
Using Componendo-dividendo Theoram, solve the Equation. %’%T:%’:}i_z S 4;

{(4) Resolve i—;—i’—i into Partial Fractions. L 2 G d i-:—}} ()

) 1ir A (0 TAdr
A=f1.:3,5.7.9)
B={1,4,7,10}
c={1,5,8,10}

Then verify : P et
(ANBINC=AN(BNC)
(4 s IS it (gﬂ%)})gﬂl}:&fwéi (=)

The Salaries of Five Teachers in Rupees are as follows :
11500, 12400, 15000, 14500, 14800
Find Standard Deviation. .ér}”..il/’!w{.y
@ e 0S8 §in sinB<0 o Tan 8= S (A BAUr
£ Taa B = and sin @< find the values of other Trigonometric functions at 6.
(4)  _y|CA|=3cm ([BC|=3cm «[AB|= Sem LlutSuaitioii ¥ AABC &)
Inscribe a cirele in a Triangle ABC with sides | AB | = Scm, [ BC | = 3cm, [ CA | = 3¢cm
8) bt 35 BB (e PR e pLl e S Eot 97
Prove that a straipht line, drawn from the centre of a circle to bisect a chord (which is not a

diameter) is perpendicular to the chord.
OR UL

(8) AL}« ung e S 23U S ﬁ":e?

Prove that any two angles in the same segment of a circle are equal.

B

(4) Solve : 512 = 72 -2 L2 (G 5]

(4) =201+ M) AL umds sl P+ (mx+o)? = a2 ehirS/Eat &)
Showsthat the Equation x2 + (mx + ¢)? = a? has equel roots if o* = a® (1 +m?).
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